run_13101020 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Apr 10 08:01:57 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

ADC-ped

[ 1000 2000 3000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

ADC-ped

0 1000 2000 3000

40(

raw ADC

[ADC for FGT RDO=1LARM=0,APV=2 }

ADC-ped

1 1 1
1000 2000 3000

40(

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

0 1000 2000 3000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=4 l

4000

0 1000

2000 3000

40(

raw ADC

4000

S}

[ADC for FGT RDO=1,ARM=0,APV=0_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

APV channel

[[ADC for FGT

Py
]

O=1,ARM=0,APV=3 |}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13101020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 08:03:52 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

4 . . . i . . . i . . . i . . . i . . . i . . . i
£22h o 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13101020 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 08:04:26 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

1 ‘V
120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

RMS (ADC-ped)

70

60

RMS (ADC-ped)

50

40

30

20

10

N N i
20 40 60 80 100 120
APV channel

220
200 =
180

RMS (ADC-ped)

160
140
120
100 =
80 =
60

40
20

0

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

E L— 5
|3 BT o T LR R
Q .
o .
2 :
@ : I :
s Nl o o R R R PP PP PP PP
z : I c :
I LTI o :
40 p—=---- - -f - ) g
[ ’ :
[— : :
A [f=—rcoetetacassaacasaghesasaseasacassaasascasghensassl Hhsansasassacadhiblbeoll jiobadd gfpesealtiosstanscdatldl ghtadst |||55qH es :
o = i i . i i i i
0 20 20 60 80 100 120

APV channel




run_13101020 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Apr 10 08:02:00 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

ADC-ped

[ 1000 2000 3000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

ADC-ped

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=8 }

ADC-ped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=9 l

ADC-ped

3000 4000
raw ADC

4000

[[ADC for FGT RDO=1,ARM=0,APV=5_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

3
af- .

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

=
=
=
=
=
_
ey
e
=
=
=

ili

1
20 40 60 80 100 120
APV channel

[[ADC for FGT

Py
]

O=1,ARM=0,APV=8_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13101020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 08:03:53 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

ool
Q 20 a0 0 a0 100 120
APV channel




run_13101020 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 08:04:27 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

350

300

RMS (ADC-ped)

250

200

150

|HH[||||||||1]IIII|HH|

100

50

ST
a

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

i
120
APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

APV channel




run_13101020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 08:02:04 2012

ADC for FGT RDO=1,ARM=0,APV=12

ADC-ped

=

i EEEEX

000

2000

3000 4000
raw ADC

ADC

for FGT RDO=1 ARM=0,APV=13

1
1000

1
2000

; 5
3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=14
—

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=15

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=16

0

1000

2000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—1- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
) =
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel




run_13101020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 08:03:54 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

[
1500 - s e m e R R PR PR PP R R LR P PP R PR

MPV (ADC-ped)

WD |F==rc=2002200200000004 o CLEECTTETTPLTPS R R CE TR T PR PR TR TP PP PP R P Bosossasssasssasasacand fhossaaaa

500 |- 5500000000000000009RE0000000050555555585

[ o P T Ik m o i € s & L o P PR o TR o O
i i i i i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+ 2 : o0o505305000050505505db005052050300095053550 TR

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of:
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=0,APV=15_}
o 5
3 2
2 .
1) 2
8 .
< .
> .
z .
= 0
] o
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13101020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 08:04:28 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

=) P e o o o o e e e e o R e R Yy
2 300 p— 8 8 5 5 5 g
; = 2
%) :
a] — o
< 250 f——------ e R L TR
[%] — . .
= —
['4 —
200 f—- - -1 Jkocococacaqpeacacacacacacaccccccammancccccccacas
[
150 fm—n -2+ {poessasacsd ; ; : ; : :
100 f—------ dbococoosasd g 2 g 8 4 2
50 B o § Bl F} - . -- EERRY EE T P A R e T £ F CEP) | ERT
oy b b b b b 5
= i
0ly 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

350 [

300

RMS (ADC-ped)

250
200
150
100 p—

50

== . . i . . -, = ., i - o f T
0 20 40 60 80 100 120
APV channel

RMS (ADC-ped)

[CADC RMS for RDO=1,ARM=0,APV=15__}

RMS (ADC-ped)

il
120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=16 }

RMS (ADC-ped)

H AN
20

APV channel




run_13101020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 08:02:07 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

[[ADC for FGT RDO=1,ARM=0,APV=17_J

5 = 4000 p—
3 ] =
3 3 =
g =
Q Q 3500 f—
< < =
3000 f=—
=
2500 f=—
=
2000 f=——
= 10"
1500 f=——
1000 f=——
=
500 f—
= 2
= 10
il g
2 - = i i i i i i
1000 2000 3000 4000 0 20 40 60 80 100 121
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=0,APV=18 | [ ADC for FGT RDO=1,ARM= =18
L = 4000 p—
3 3 = . . . 5 5 g
S s =
(8] Q —
8 8 3500 =
< < =
3000 f=—
=
10 2500 f=—
2000 fm/——
= 10"
1500 f=—
=
1000 f=——
=
500 fm— )
1 = 10°
0=
= E_. . i i i . . . i . . . i . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=0,APV=19 } I ADC for FGT RDO=1,ARM=0,APV=19
- = 4000 p=
3 g = . . . . . .
3 2 = 8 8 8 8 8 2
[8) (8 o
Q Q 3500 F=
< < =
3000 - - .- - -
2500 =
10 =
2000 f= e
= 10"
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
= 10?
() =S ST
= i i i i i i
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 | | ADC for FGT RDO=1,ARM=0,APV=20
5 = 4000 p—
g |- ] = . . .
St e = .
g I. Q 3500 F=—
< < =
- 3000 f=—
2500 =
2000 f=— X
= 10
1500 f=——
1000 f=——
=
=
500 f=——
= 10?
=
=
= b=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=0,APV=21 | [ ADC for FGT RDO=1,ARM=0,APV=21 }
= 4000
]
&
Q
Q 3500
<
3000
2500
2000
1
1500 10
1000
500
2
0 10
0 1000 2000 3000 4000
raw ADC APV channel



run_13101020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 08:03:55 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel
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run_13101020 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
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run_13101020 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 08:04:32 2012
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run_13101020 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 08:02:19 2012
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run_13101020 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13101020 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 08:04:33 2012
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run_13101020 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13101020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Tue Apr 10 08:04:00 2012
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run_13101020 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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run_13101020 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13101020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13101020 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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run_13101020 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13101020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
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run_13101020 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 08:02:31 2012
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run_13101020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
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[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

400

350

300

250

200

150

100

50

il 11I|rI1I|TI'I1IHI1]I r|-1|r|-|1m|

1
120
APV channel

0

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

100 [
80 [+
60 |-
40 |+

20 -

APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

300 1_
250
200
150
100

50

120
APV channel




run_13101020 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13101020 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
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run_13101020 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13101020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13101020 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
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run_13101020 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Tue Apr 10 08:02:40 2012
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run_13101020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13101020 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13101020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
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run_13101020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Apr 10 08:04:40 2012
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run_13101020 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13101020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13101020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
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